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Question Number : 1 Question Id : 724622141 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical



Correct : 1 Wrong: 0.33

A 35V source is connected to a series circuit at 600 € and R Q2. If a voltmeter at internal resistance 1.2 k€2 is commected
across 600 £2 resistor, it reads 5V. The value of R is:

Options:
;. % 12kQ

> o 24KO
2 % 3.6kQ

4 % 72KkQ

Question Number : 1 Question Id : 724622141 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
T+ 35V g & At F 600 @ FWT R Q & Yoy & F=r 1T 21 I vF SeeHeT S A=
gfaRrer 1.2 kQ & & 600 Q & gk o ST 3 ar smar 2 5V @ 31 R &7 & +7 272

Options:

L% 1.2 ke
, & 2.4 kO
5 = 3.6 ko

4% 7.2 ko

Question Number : 2 Question Id : 724622142 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
At certain cutrent, the energy stored in iron cored coil is 1000 T and its copper loss is 2000 W. The time constant is:

Options:
1. % 0.25

> % 0.50

o o 1.0

4 R 2.0

Question Number : 2 Question Id : 724622142 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
fega o & & A W v dilg FR aer HEer A 1000 J Fr IS w@fEa g § 6t sHer aH
gifar 2000 W 2 T8T &g &1 717 f&aar 27

Options:



. % 025
- % 050
= W -1':'

Question Number : 3 Question Id : 724622143 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
Two coils having equal resistance but different inductances are connected in series. The time constant of the series
combination is the:

Options:
1 % sum of the time constant of the individual coils.

average of the time constant of the individual coils.
geometric mean of the time constant of individual coils.

product of the time constant of the individual coils.

Question Number : 3 Question Id : 724622143 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
T WY Teq 3HATA Whcd dTal a1 FUsiadl el H 8 § JEel TS &1 FAY Addie 47 g7
Options:
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Question Number : 4 Question Id : 724622144 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

A series RLC circuit consisting of R =10 @, X; = 20 @ and X = 20 Q. is connected across an AC supply of 100V (rms).
The magnitude and pulse angle (with respect to supply voltage) of the voltage across the induction coil are respectively.

Options:



| % 100V;90°
100 V; =90 °
200 V; —90°

4 200V;90°

Question Number : 4 Question Id : 724622144 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

T T HR.UA.EY. 9R9y fSEA R= 10 @, X =20 @ 3k Xc =20 @ & # 100 V (IR.UA.TH.)

A THL 3T F A T g1 ST FEOET H Aies F GNAT AR TEw HOT (MfS dees & Faw H)
FHT: T 27

Options:

. % 100V ; 90°
, % 100 V ; -90°

. % 200V ; -90°

L v 200V ; 90°

Question Number : 5 Question Id : 724622145 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
The resistance of a strip of copper of rectangular cross section is 2€2. A metal of resistivity twice that of copper is coated
on its upper surface to a thickness equal to that of the copper strip. The resistance of the composite strip will be:

Options:
1 ® 60

> o 430
2 % 32Q

4% 340

Question Number : 5 Question Id : 724622145 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
TH A H HATAER T F HFHAET F A0 2 Q §1 $HF AR TR FET T Hed o B TE H
T T 9 F FU 3T & A oF afug &ar T §) §FT 99 # iy =24 aen?

Options:



1 ® 6 Q
2¢4J‘r39
2% 32

L% 340

Question Number : 6 Question Id : 724622146 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
A 50 KVA, 1000/200 V transformer takes 5 A current at a power factor of 0.2 lagging. when connected to 1000 V side at no
load is connected at the other side. The core loss in transformer will be:

Options:
1+ 1000 W

> % 500 W
5 % 2000 W

4 % 2200 W

Question Number : 6 Question Id : 724622146 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
T 50 kVA FoT 1000/200 V 1 grawER 1000 V #r fem & gy sar § 3k g@dr feer & o @
% SAIgT ST 8, 99 g 0.2 wesfeer AfFd UMk 9 5 A ORI ol g1 TEGIER H HI FliA FAT g

Options:

- % 500 W
5 = 2000 W

L % 2200 W

Question Number : 7 Question Id : 724622147 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
A transformer has iron loss of 900 W and Copper loss of 1600 W at full load. At what percentage of load will the
efficiency be maximum?
Options:
1 % 133



4 % 66.66

Question Number : 7 Question Id : 724622147 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
TH FHEGEFR H T AT R 900 W F wig JFare AR 1600 W & aF Foar &iar gl @15 & fFaa
gferera 9T gaTar HiOsas gref?

Options:

% 133
> % 125
3¢ 715

., % 66.66

Question Number : 8 Question Id : 724622148 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

A transformer is working at full load with maximum efficiency. Its iron loss is 1000 W. What will be its copper loss at
half full load?

Options:
;% 1000 W
5> o 250 W

500 W

M
f"{

4 % 2000 W

Question Number : 8 Question Id : 724622148 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

T TEEER HOFHaH STHAT F WY qO7 H1F W FH W T § ST Alg @ 1000 W F1 3 wiiE |

SHRT dIH Jhd FaT grem?

Options:

. % 1000 W

> & 250 W



.« 500 W

. % 2000 W

Question Number : 9 Question Id : 724622149 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33

A transformer T1 with impedance of Z1=0.1 + j0.4 is connected in parallel with another transformer T2 having
impedance of Z2 = 0.05 + j0.2. The ratio of load shared by them (T1 : T2) is:

Options:
, = Equal

2.\-_,"1:2

W
¥
| ]
ot

o
¥
[ ]
()

Question Number : 9 Question |d : 724622149 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Z1 = 0.1 + j0.4 F Ff¥ETYT F T TF TEGI &1 TF ey FHPER A2 F FY FAGAR F ST FI;T 7
e sfeamar 22 = 0.05 + j0.2 81 3% ganr &= 36w 717 #s &7 3 (&1 &2) F 82

Options:

1. % HAA
oo 12
=% 21
5% 253

Question Number : 10 Question Id : 724622150 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
In a transformer, the resistive drop is 2% and reactive drop is 3%. What will be its regulation at full load unity power
factor?

Options:
1 % 1%

> ® 5%

.
$
| ]
=]
=R



Question Number : 10 Question Id : 724622150 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33

o groweR &, giaRes 3™ 2% § 3k Nufees 3™ 5% 21 7 o5 e afFg FRE | 39
Foaa =T gem?

Options:

1 % 1%

> R 5%
3. ¢ 2%

4 % 1%

Question Number : 11 Question Id : 724622151 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
In case of single phase resistance split phase motors, the phase shift between currents in two winding is around:
Options:

1 « 30 degrees

> w 90 degrees

s w 120 degrees

4 % Zerodegrees

Question Number : 11 Question Id : 724622151 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
T e Siaty Furee AeT (e 57 TeEy fToae v AeY) & A1 Fe #, o aEE & me
URTHT &F €= BT "o FEe sET 27

Options:

2 % 120 fE=f

A 23]

4 %



Question Number : 12 Question Id : 724622152 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
A 4 pole, 400 V, 60 Hz, 1750 RPM., 3 phase induction motor is connected to 400 V, 50 Hz supply. The motor will:

Options:
1 % mnotrun at all

> % burn out

- % run atspeed more than 1750 RPM

4 « Tun at speed less than 1750 RPM

Question Number : 12 Question Id : 724622152 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
ua:dga‘*rzr, 400 V, 60 Hz, 1750 RPM 3 % == AT & 400 V, 50 Hzaﬂaﬁr@'aﬂamﬁl
HIET FT HTEAT FAT g7

Options:

| % T S
o % ST S
- % 1750 RPM & Fa1eT =ife oY <o

4 v 1750 RPM & && =1fa 9T e

Question Number : 13 Question Id : 724622153 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

A 4 pole 400 V, 50 Hz, 3phase induction motor is running at 1425 RPM. What will be the frequency of rotor current at
this speed?

Options:

, % 50Hz

- % 100 Hz
3 o 2.5HzZ

4 % 5Hz

Question Number : 13 Question Id : 724622153 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33



TF 4 g, 400 V, 50 Hz, 3 %1 59 Alex, 14256 RPM oY 91 @ gl 5§ a1fad ) A # qX
ORT Fr AT F4T geN?
Options:

. % 50 Hz
. % 100 Hz
z o 25 Hz

4 % 5 Hz

Question Number : 14 Question Id : 724622154 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

For a single phase capacitor start induction motor. which of the following statements is valid?
Options:

, w The direction of rotation can be changed by interchanging supply terminals.

- % The direction of rotation cannot be changed.

-  [Ihe direction of rotation can be changed by reversing main winding terminals.

4 = Single phase motor direction cannot be changed.

Question Number : 14 Question Id : 724622154 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
THA Tl HUTNT JoFa W07 AY(FHerer o7 SRR T Alex) & Tegst A Meafoied # & &g &/
du 2

Options:

| o IO HT R amafet SRS & ee-Here AR S S Fh ¢
e guie & feer afafda @@ $r 31 Fdr
Slwgﬁawzﬁﬂsﬁﬁtﬁﬁ#mqﬁﬂﬁﬁwmm%l

, « T&eTer W Arex T G FEr gEer S Fear

Question Number : 15 Question Id : 724622155 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33



Under no load condition. if the applied voltage to a 3 phase induction motor is reduced from rated voltage to half the
rated value, then:

Options:

, w speed will decrease and stator current will increase.

-  both speed and stator current will decrease.

- % both speed and stator current will remain constant.

4 » there will be negligible change in speed but stator current will decrease.

Question Number : 15 Question Id : 724622155 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

= &z & e 3 e AOT AT F 3T% T dlocs H MY dlecet @ TG F FAST R, ar FT FIm?
Options:

i T & & ST HR TeeX 16l & ST

. » TS 3R Ve 9 g w4 g A
. % TS 3R T grr BT @l

, % T H A0 RIS g Afehd FeEX URT gT ST

Question Number : 16 Question Id : 724622156 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
The percentage regulation of an ideal transformer is:

Options:
1. & Zero

> % 100

L
#
LAy
o

4 ® 10

Question Number : 16 Question Id : 724622156 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

TF AT THFET F1 Iiaed Bfaas Faea § § #i9 @ 22

Options:



v T

5 % 100
ST ] 50

g4 ® 10

Question Number : 17 Question Id : 724622157 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

Load on a 3 phase synchronous motor running on full load unity power factor is reduced to half. Its field current is held
constant. What will be the new power factor?

Options:

, » Leading

>  Lagging

5 ® Unity

4 w Depends on parameters of machine

Question Number : 17 Question Id : 724622157 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
qUT WS TeRe AfFd T[ONE U Tl JTel 3 TOT gederlioes Alel 9T SIS 3T Y femm am §) e e
ORT & FRET @ T gl A4 afEd uns = g

Options:

| % 3T

o o TS
3_&833;'%
, « TN & AES R R Far 7

Question Number : 18 Question Id : 724622158 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Which of the following is protected by Buchholz relay?

Options:



1 % Generator

- % Synchronous machine

= % DC machine

4 « Transformer

Question Number : 18 Question Id : 724622158 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
fTafof@a # ¥ #i9 & THales ol ganT giad 87

Options:

1. = aﬁ? '[:E ;!IEI}
e gmﬁa Tl

, o STEHIET

Question Number : 19 Question Id : 724622159 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
For a 400 V, 3 phase 3 wire star connected unbalanced load, the neutral point voltage can be:

Options:
1 % 400V

> % Zero
s o 20V

4 % 800V

Question Number : 19 Question Id : 724622159 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33

400V ¥ T, 3 % 3 IR TR FHgled @iF & fav sed=, g dees #41 @ wear 27

Options:

| % 400 V




2x BT

= W 20 V

. % 800V

Question Number : 20 Question Id : 724622160 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
A synchronous motor fed from an infinite bus is delivering half full load. If an increase in its field current causes an
increase in armature current. then the motor will:

Options:
1w deliver reactive power Q and active power P

5 % absorb P and Q
5 » absorb Q and deliver P

4 w deliver Q and absorb P

Question Number : 20 Question Id : 724622160 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
UH HeAd FH H TN T Th Jederlions Al T & Gala & @ & 3R 3@ 8 au A i
§H Fa9 F URT F I F FROT 99T g, O A T RWg F T e

Options:

. » Rufdeg g Q 3R Tk 9= P oaem

. » P 3T Q F g FEw
. % Q 3T AR P foaRa gem

. = P 3 3 Q faaRa gem

Question Number : 21 Question Id : 724622161 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33

If supply voltage terminals for a DC shunt motor are reversed. then:
Options:

; = itwill stop immediately



> « it will run in same direction

5 » it will act as generator

4 = itwill run in opposite direction

Question Number : 21 Question Id : 724622161 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33

3R TR AL o Al F v smfa dees cffae 3o e = At
Options:

. T8 I ¥ @ S

1

. v T8 T g fm & =rewEm

g T & §F H HTH HET
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., « TE Bada Rer & =@

Question Number : 22 Question Id : 724622162 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
A DC shunt generator. having terminal voltage of 250 V, is delivering 195 A tfo load. Its armature and field winding
resistance are 0.02 €2 and 50 €2 respectively. What will be the value of generated EMF?

Options:
| % 246V

4 254V

Question Number : 22 Question Id : 724622162 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

250 V fEAT atees aram ST o AT AF 9T 195 A Tafa X @ 81 s'h FaT A a9
IEfEer #r 9fay FH: 0.02 Q 3T 50 Q Bl 3¢9 S.UA.UE. F HA FT g7
Options:

| % 2486V



> % 270 V
2 % 282V

g W 254 V

Question Number : 23 Question Id : 724622163 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Which of the following is the variable loss varying significantly with load in rotating machine?

Options:
1 % Core loss

> % Mechanical loss

- w Hysteresis loss

4 « Copper loss

Question Number : 23 Question Id : 724622163 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
T=fofa § @ ®i9 @1 a7 g gue @=ia J @F & Ty F6 @ gar g2
Options:
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Question Number : 24 Question Id : 724622164 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
For which of the following applications is DC shunt motor preferred over other motors?

Options:
, = For high speed application

-  For constant speed application



5 » Forlow speed application

, w For applications requiring high starting torque

Question Number : 24 Question Id : 724622164 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Trafe@T § O g iy & FRor 21 o AT 3T Ay ¥ e ge R e 32

Options:

| % 3= g Hoeled & fore
- % SH T Hoelheld & [T

4 % 3=9 ARAE T HT FGTHAT TTel TR & oI

Question Number : 25 Question Id : 724622165 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
In a DC generator, sparking at the brushes occurs due to:

Options:
, w distributed winding

- « armature reaction and commutation

- % high resistance of brushes

4 % improper connection of winding

Question Number : 25 Question Id : 724622165 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

.8 FAET H g7 W TfeeT FEe T 2T 87

Options:

|« TaRa aEfEE
- v wag Slaehar AR fEEer

5 % U F 3T Fla



, « TERT ¥ o T

Question Number : 26 Question Id : 724622166 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

A DC shunt motor running on full load takes 50 A. If the supply voltage and field current is reduced to half, what will
be the armature current if motor delivers constant power output?

Options:
1« 100 A

> % 200A

Question Number : 26 Question Id : 724622166 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
qUT @15 9T I T@T U SLH. 9T AleT 50 A F ORI AT g Al 3fe Ao T Hres anT AT
FT fear AT & Fa= 9 (FFER F1E) F AW F4T 26N, Afe Ay Fag T 9ae #T @

Options:

1. W 100 A
5 % 200 A
2 % 50 A

4% 25 A

Question Number : 27 Question Id : 724622167 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33

Why are dummy coils provided in a DC generator?
Options:

, % Toamplify the generated voltage

- w Toreduce eddy current loss

5  To provide mechanical balance to rotor

4 % Toreduce iron loss



Question Number : 27 Question Id : 724622167 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
a.H. e (e A = Fosfoan #4t ans e 87

Options:

| % 3c9ee dlecs & g & forw

o TSI U FHATA FT FH Fld & oIT
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Question Number : 28 Question Id : 724622168 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

Wave winding is employed in DC machine having:
Options:

, = highvoltage high current

> % low voltage low current

5  high voltage low current

4 w low voltage high current

Question Number : 28 Question Id : 724622168 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Options:

, % 3%9 dlces 399 ORT BT §
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Question Number : 29 Question Id : 724622169 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
If we observe the output waveform of DC generator on CRO, it will be like a

Options:
1 # sinusoidal wave

- % Square wave

5 % constant voltage line

4 « Dulsating unidirectional waveform

Question Number : 29 Question Id : 724622169 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33

g & TR W EE T F BT ITFH FT GIAT0T FS 8, A TE HAT T grem?

Options:

| % SOEHT T
SR ] El?ﬁ' HIEH
.« AT Sees WA
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Question Number : 30 Question Id : 724622170 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33

In a cumulative compound DC motor with rated voltage applied with rated load. if the series winding part is shorted,
then speed will be:

Options:
; % less than full speed

-  more than rated speed

5 ® same

4 ® ZEro

Question Number : 30 Question Id : 724622170 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Options:
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Question Number : 31 Question Id : 724622171 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

Two coupled coils, each of self-inductance L = 0.2 H, have a coupling co-efficient k = 0.9. The mutual inductance M is:
Options:

1 ¢ 0.18H

5 % 0.23H

Question Number : 31 Question Id : 724622171 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
ar givna Hfom, Telis Ta-90e L = 0.2 H &1 58 I7a= Tg-30ns k = 0.9 §| 3o &7
Ulhed M & AT 47 Y

Options:

. v 0.18 H

, » 023 H
.« 036 H

. % 043 H

Question Number : 32 Question Id : 724622172 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
Two coils are connected in differential connection. They have self-inductance of 2 mH and 4 mH and a mutual
inductance of 0.15 mH. The equivalent inductance of the combination is:



Options:
1o

L

JmH
> % 5.8mH
z % 6.0mH

4 % 6.15mH

Question Number : 32 Question Id : 724622172 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

a1 Fusforal ey Faea # 3 5 F1 SAH TI-NRehed 2 mH FIT 4 mH F 3R Al ke
(FIIHS IT&cd) 0.15 mH §, FIS # GAGeT Iehed fahaell grem?

Options:

1 & 5.7 mH
, % 5.8 mH
. % 6.0 mH

. % 6.15 mH

Question Number : 33 Question Id : 724622173 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

A resistance ‘R’ £ and inductance of ‘L’ H are connected in series across 240 V, 50 Hz supply. Power dissipated in the
circuit is 300 W and the voltage across R is 100 V. In order to improve the power factor to unity, the capacitor that is to
be connected in series should have a value of:

Options:
|« 437 UF

o % 437 pF

4 x 0437 yF

Question Number : 33 Question Id : 724622173 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33

v ety ‘R @ 3R v W& L H arer 9ftwyr 240 V, 50 Hz amfed & @8 & Ser ) iy
(@fee) 7 varfega afFa 300 W § 3R R & aieesr 100 V &1 515 &1 ufad T[0T 3gaR & & o
ot 7 2 v guflT &1 A7 41 ge?

Options:




v 437 \F

, » 437 yF

.« 437 \F

, % 0437 pF

Question Number : 34 Question Id : 724622174 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
A 3 Q resistance is in parallel with current source of I/3 A. This parallel combination is then connected in series with

resistance of R chms. A voltage of V volts is applied to this circuit and total current taken by the circuit is IA. The effective
resistance faced by the voltage source is:

Options:

, ® 1tRQ
> % 3+RQ
s v 2+RQ
4 % 33+RQ

Question Number : 34 Question Id : 724622174 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

TF 3 Q F IR /3 A 9T AT F FAAT FH H J37 g1 36 FAK A= HI dd R Q &
SfeRIeT & Ty S@en H AT A g1 V Ao F TH TG W INGY H FIT 0 § HR IRy g@w
IO FA T AT F AF A F| Fees @iF garT fFae 9oy T WEAT AT 98 W@ 87

Options:
1 ® 1T+R @

2_$$3+Hﬁ
3J2+Rﬂ

L% 33+RQ

Question Number : 35 Question Id : 724622175 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

‘When two coupled coils of equal self inductance are connected series in one way, the net inductance is 12 mH and when
they are connected in the other way. the net inductance is 4 mH. The maximum value of inductance when they are
connected in parallel in a suitable way is:

Options:



1 % 2mH
> o 3mH
= % 4mH

4 % 6mH

Question Number : 35 Question Id : 724622175 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

S &1 7 gRAd Fusferar Sud & 9le 1 F=-9Fcd F AT FA g i T s@er H vE WE §
3 gU 8 o Fol Tehew 12 mH 91ed BT § R IS @l TP § IS AC A FoT Wehed 4 mH e
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Options:

1 ® 2 mH

zly'smH
= ® 4 mH

4 ® 6 mH

Question Number : 36 Question Id : 724622176 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

A two-terminal black box contains one of the R.L.C. elements. The black box is connected to a 220 V AC supply. The
current through the source is I. When a capacitance of 0.1 F is inserted in series between the source and the box, the
current through the source is 21. The element is;

Options:
1 % resistance

> o an inductance

- % acapacitor of 0.5 F

4 % itisnot possible to determine the element

Question Number : 36 Question Id : 724622176 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

T af Ao sl SFH H T ANTAHL Tode # § TR g1 Soie aied @ 220V THEL i #
SET T #1 W F AT ¥ yaTRd ORT | § 99 A At 9ew F @9 O (gmem) § 01 F
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Options:

1. ® SIS
> v Udh Gehcd
s % 05 F @1 @aig

, » ded #t [AURE Fwar v 7@ §

Question Number : 37 Question Id : 724622177 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
The charge on one electron is:

Options:
. ¢ 1.602 x 1071°

. % 624%108
- % 1.602 x 10%°

4 % 6.24x10718

Question Number : 37 Question Id : 724622177 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

fordlr sorwee 9T fraeT e gar 2

Options:
. o 1602 5% e

o % 6.24%108
2 % 1.602 X 10%°

4 % 624%x10718

Question Number : 38 Question Id : 724622178 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
‘What is the average value of sinusoidal waveform over one complete cycle?

Options:
1 ® meﬂ:



> ® Zero

s 2V /T

4 #® ZHﬁm

Question Number : 38 Question Id : 724622178 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

foreT T STEERT ERE (R F9) F TF TEUT TTHrhd A AT AT FT EAT 87
Options:

i % Vm/T

. e
o R

5 o 2Vm/T

4 #® ZT[fvm

Question Number : 39 Question Id : 724622179 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Ohm’s law is valid for:
Options:

1 « all conductors

- % all nonlinear devices

5 » all temperature

4 % all metals

Question Number : 39 Question Id : 724622179 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
en & fFuw F=fRe 7 o s fw au 2

Options:
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5 % TH d9AT W

gl argst 9T
4 % 3

Question Number : 40 Question Id : 724622180 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33

A circuit whose behaviour and characteristics is same irrespective of the direction of current through various element is
called:

Options:
1 % Unilateral

> w Lumped

= « Bilateral

4 » Noneofthe given options

Question Number : 40 Question Id : 724622180 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Options:
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Question Number : 41 Question Id : 724622181 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
A sinusoidal wave v = 100sin (314.15t). What is its instantaneous value at 0.02 s and 0.005 s?

Options:
.« 0:100

o % 100;0



2 w 10;100

, ® 100;10

Question Number : 41 Question Id : 724622181 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

Teh SO T5h1 a4 58§ 9N ¥ g ; v= 100sin (314.15t) & 0.02 s 9 3#Y 0.005 s 9T Alcehlioreh
AT F47 g2

Options:

.« 0; 100
, » 100; O

- 10; 100

, = 100; 10

Question Number : 42 Question Id : 724622182 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

Five cells are connected in series in a row and then four such rows are connected in parallel to feed the current to a
resistive load of 1.25 Q. Each cell has emf of 1.5 V with internal resistance of 0.2 €. The current through load will be;
Options:

1 % 333A

> % 2333A

Ly

2. ¢ S A

g4 1A

Question Number : 42 Question Id : 724622182 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33

uier Wl TH Gfed & H@er & A Far g 3R R =an ol 9Faer samia 8
H I ardr § 5EH 1.25 @ & gfadt & v anr & S 8 93 89 #+
STA.TE. 1.5 V § 3T 3=ai 93y 0.2 Q g1 &5 H R T & F47 gEm?

Options:

| % 3.33A

, » 23.33A



5 v BA

g4 1A

Question Number : 43 Question Id : 724622183 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
A network contains linear resistors and ideal voltage sources. If values of all the resistors are doubled. then the voltage
across each resistor is:

Options:
1 % halved

> % doubled

- » increased by four times

4  hotchanged

Question Number : 43 Question Id : 724622183 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

TF deaw # @w iyt AR ey dees g &1 Ifg it ufedt & A eeg &t
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Options:
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-\d : I'd
L w GFL g1 ST

T 7T S FTT
=z R 3

. » FIREfaa @

Question Number : 44 Question Id : 724622184 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

The voltage phasor of a circuit is 10215 ° V and current phasor is 2.-45° A. The active and reactive power in the
circuit are respectively:

Options:

1 « 17.32 Wand 10 VAr

> % 5 Wand 8.66 VAr



= % 20 Wand 60 VAr

4 % 20v2W and 10v2 VAr

Question Number : 44 Question Id : 724622184 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

fordr aftay = I BoR 10215° V § 3R urr %R 24457 A ¥ aRwy Fr wh A gl ofew
A FIT BrE?

Options:

.« 17.32 W 3T 10 VAr
- # 5 W 3R 8.66 VAr
5 » 20 W 3R 60 VAr

4 % 2042W 3R 10v2 VAr

Question Number : 45 Question Id : 724622185 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
In a series RL circuit. the two resistors of R = 5 and 10€, are connected in series with inductor of L H. The supply
voltage is 50V. If the power consumed by the 5€2 resistor 1s 10W, then power factor of the circuit is:

Options:
; % 0,828

> o 0424

z ® 0.567

Question Number : 45 Question Id : 724622185 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33

T BT 3R.TA. (RL) ®ffe & R = 5 @ 3k 10 @ & & 9oty &f= § L &0 % @soex & 3 £
HeaTs Sfec 50 dee g1 39X 5 31H FT Iy 10 I &=l & @ug #3ar § ar gfehe &1 9T $haex
T gE?

Options:

% 0.828

» v 0.424



- = 0.567

4% 0

Question Number : 46 Question Id : 724622186 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

A certain network consists of two ideal voltage sources and a large number of ideal resistors. The power consumed in
one of the resistors is 4 W when either of the two sources is active and the other is replaced by a short circuit. The
power consumed by the same resistor, when both the sources are simultaneously active, would be:

Options:

1 & Zeroorle W

o % 4Word8w
= % Zeroor8 W

4 % 8Worl6e W

Question Number : 46 Question Id : 724622186 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

T WIH AT+ H & HEY Seca F9 3R I897 §&ar H H1ET gy &1 &Fdr v gfaet § @ug $r
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Options:
=T AT 16 I
1, W

> % 43T T8 T

. YT AT & T
S_W o

4 % 8 FE AT 16 91

Question Number : 47 Question Id : 724622187 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

‘What is the Thevenin resistance of the N/W comprising of a resistor of 122 in series with a parallel combination of a
current source of 2 A and a resistor of 1 Q7

Options:

1. 282

> % 05Q



s % 43Q

Question Number : 47 Question Id : 724622187 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

39 dAeaw (N/W) F1 23f@a 9ok 7 gem Swd 1 @ I gfody @8 & o9 g 3R 31 2A g
T 3R 1 @ F Iy & FHGR AT A S 87

Options:

1« 2Q

- % 43 0

4_-;-‘315_:1

Question Number : 48 Question Id : 724622188 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
A 20V battery is connected with a parallel combination of resistance 6 £ and variable R and this combination is
connected with 3 € resistor. Now the value of the resistance R in the circuit is varied in such a way that the power
dissipated in the 3 €2 resistor is maximum. Under this condition the value of R will be:

Options:
1 ® 352

- = 0Q
2% 129

4.« 682

Question Number : 48 Question Id : 724622188 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33

T 20 diee €l 6 0 F TH FiRg 3R R F ve IRET 9y & FAER F4999 8§ 3 ¢ iR
m@mwsnmamﬁgm%imqﬁwﬁmﬁmmwmﬁqﬁaﬁﬁ
forar o1 § & 3 0 & woy # ofeT o7 30eaw g1 57 T 7 R F1 A F27 g

Options:

1 ® 3 Q2

2_&899



4 ¢ 6 Q

Question Number : 49 Question Id : 724622189 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

Surge Impedance Loading of a transmission line is also known as:
Options:

, % No loading

-  Characteristics impedance loading

- % Half capacity loading

4 % Zero loading

Question Number : 49 Question Id : 724622189 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

fFdr TrafAs oea F g9 sdEw (Ffgsen) afEy = fea 7 o &9 37 @ J9 a2

Options:

o o PREFCIECHFR FHSH wfser (3fFasror gfceamr i)
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Question Number : 50 Question Id : 724622190 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33

A string insulator has 4 units. The voltage across the lower most unit is 33.33% of total voltage. The string efficiency of
the insulator is:

Options:
1 % 30%

> % 25%

3 o T5%



4 % 50%

Question Number : 50 Question Id : 724622190 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

% g segeet # 4 giae € wEw TEe g # des Fo dees & 33.33% g1 Segeel & e
T F4T £7

Options:

, % 30%
., % 25%
2 v 75%

4 % 50%

Question Number : 51 Question Id : 724622191 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
A Voltmeter is which type of instrument?

Options:
] ® Integrating

» % Recording

-  Indicating

4 % None of the given options

Question Number : 51 Question Id : 724622191 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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e
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Question Number : 52 Question Id : 724622192 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
A moving coil instrument having meter resistance of 5 €2 is to be used as a voltmeter of range 0 —100 V. If the full scale
deflection current is 10 mA, then find the required series resistance.

Options:
;. % 1999

> % 10000
5 % 995

4 9995

Question Number : 52 Question Id : 724622192 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
TF To-FEel 39501, fHEH 5 @ FT AT wferiy g # 0 -100 deT I ¥ dlecH] F § # FEAA
foram S €1 3R U7 dETEr feae amr 10 mA g 3 smEeTes gen SRy fhaer gem?

Options:

% 1999
- % 10000
. = 995

.~ 9995

Question Number : 53 Question Id : 724622193 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Hot wire instruments have

Options:

| « Squared scale

> u logscale
= % uniform scale

4 % None of the given options

Question Number : 53 Question Id : 724622193 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Options:
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Question Number : 54 Question Id : 724622194 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33

Which instruments can be used for DC measurement only?
Options:

, « Moving coil

-, w Aftraction-type moving iron

- % Moving iron

4 = Repulsion-type moving iron

Question Number : 54 Question Id : 724622194 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

Fad T AT F v FERRT § T FH 3T S 399 AT 1 ghdr 87

Options:

| T FIEE (Fe-FEen)
- HEFRIA-2IST HA9T AT (V0T TR I w1E)
. x T[T IR (I -ellE)

iica Raera-ars9 Afewr 3mRa (Ffaesor g&eR =+ @i8)

Question Number : 55 Question Id : 724622195 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33



Two resistance, Ry =50 = 1% and R, = 50 = 2%, are connected in parallel. What will be the percentage error for
equivalent resistance?
Options:

| % 25+2%

-3
f"{
| S
LA
H-
(==
Lh
=
(=]

3 o 25+4.5%

Question Number : 55 Question Id : 724622195 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

ar 9ferier, Ry = 50 + 1% 3R Ry = 50 + 2%, FAECK H 33 gV &1 FAGed o # gioerd e
FgT grEN?

Options:

% 25 2%
, w 25 £ 1.5%
- v 25 + 45%

. % 50 % 3%

Question Number : 56 Question Id : 724622196 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
A 230-V, 50-A energy meter on full load test makes 61 revolutions in 37 seconds. If the meter constant is 520 rev./kwh,
what is the percentage error?

Options:
1 % 0.67%

> o 0.76%
s % 1%

4 % 0.24%

Question Number : 56 Question Id : 724622196 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
230 dee, 50 TfPYaR arem U Fei Hiew qUT HR GdET0r 9 37 VST H 61 THUT FLAT g1 Ig A
e 520 =/faeiare uer g, ar wfawa 3fe 7= &2

Options:



. % 0.67%
oo 0.76%
ST ] 1%

4 % 0.24%

Question Number : 57 Question Id : 724622197 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
When the pointer of an indicating instrument is in motion, then the deflecting torque is opposed by:

Options:
, » Damping torque

- % Controlling torque

-  DBoth damping torque and controlling torque

4 » Rotating torque

Question Number : 57 Question Id : 724622197 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 58 Question Id : 724622198 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

In an induction-type instrument, two fluxes having a phase difference © from a single phase supply can be achieved by:
Options:

, % Increasing supply voltage



- % increasing frequency

-  Splitting phase arrangement

, % changing poles

Question Number : 58 Question Id : 724622198 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 59 Question Id : 724622199 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
In spring control mechanism, the pointer will come to rest at a position when:

Options:
1 % Ie=>Tp

- % TIg<Tp

sv =T

4 w None of the given options

Question Number : 59 Question Id : 724622199 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 60 Question Id : 724622200 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33

When a DC series motor runs on no load:
Options:

, = the speed of motor is very low.

-  the speed of motor is very high.

= % the motor does not run at all.

4 % the motor runs at rated speed.

Question Number : 60 Question Id : 724622200 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 61 Question Id : 724622201 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
In percussion welding. the heat is produce by a rapid discharge of stored electrical energy from the:

Options:
1w Capacitor

> % Inductor



= % Transformer

4 % Rectifier

Question Number : 61 Question Id : 724622201 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 62 Question Id : 724622202 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
The range of supply frequency employed for high-frequency eddy current heating is:

Options:
1 % 1kHz-2kHz

> % 5kHz—8kHz
5 « 10 kHz — 400 kHz

4 % 10 MHz

Question Number : 62 Question Id : 724622202 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
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Question Number : 63 Question Id : 724622203 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
The illumination at a point 5 meters below a lamp is 6 lux. The candle power of the lamp is:

Options:
1. ® 30
5 % 100

3 150

200

o
f’{

Question Number : 63 Question Id : 724622203 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Options:

1 = 30
- % 100
z « 150

. ® 200

Question Number : 64 Question Id : 724622204 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
‘Which of the following has the largest wavelength?

Options:
1 % Violet
~> « Red

= % QGreen

4 % Blue

Question Number : 64 Question Id : 724622204 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 65 Question Id : 724622205 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

The bridge used for measurement of unknown capacitance is:
Options:
| « Schering bridge

- % Wheatstone bridge

- % Maxwell bridge

4 % Owen’s bridge

Question Number : 65 Question Id : 724622205 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 66 Question Id : 724622206 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
In a DC machine, the current in the armature winding is:

Options:



, « Altemnating

> % Unidirectional
% % Less than the field current

4 % Zero

Question Number : 66 Question Id : 724622206 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 67 Question Id : 724622207 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
The zero sequence component of the unbalanced system of vector Vy . Vg and V¢ is of their vector sum.

Options:
1 « one-third

> % one-fourth
3 % half

4 % two-third

Question Number : 67 Question Id : 724622207 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

wfewlt Va, Vg 3R Ve T swgiog Somelr & 7T 3%H 9% 3o e I & g gl

Options:

1.+ weh iﬁlgé




Question Number : 68 Question Id : 724622208 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

Plug setting of a relay can be altered by varying the:
Options:

, % air gap of the magnetic path

o  number of Ampere-turns
- » adjustable backup stop

4 % size of the relay

Question Number : 68 Question Id : 724622208 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 69 Question Id : 724622209 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
In case of an unbalanced star-connected load supplied from an unbalanced 3-phase 3-wire system, load current will
consist of:

Options:

. % only +ve sequence component

- » only —ve sequence component



- » only zero sequence component

4  DPothTve and —ve sequence component

Question Number : 69 Question Id : 724622209 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
fordr sreeies 3-0a 39X T @ FfaT TF IFeEE TER-Facs @i & A5 HC (U A
T=lof@a & & #r anf@e gem?
Options:
el UeATcHS 3ThH U<Hh

el HUNcHS 3HeIshH HTh

Shaol AT HIHHA UTFH

e Il UAeHs A HUTCHF HeJhH e

Question Number : 70 Question Id : 724622210 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
The fault occurring most frequently in power systems is:

Options:
1 % Line to line fault

-  Line to ground fault

5 % Double line to ground fault

4 = Iriple line to ground fault

Question Number : 70 Question Id : 724622210 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
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Question Number : 71 Question Id : 724622211 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
In transformers, Buchholz relay is used for detecting:

Options:
1 « internal faults

> % external faults
- % insulation failure

4 % overcurrent

Question Number : 71 Question Id : 724622211 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 72 Question Id : 724622212 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33

When the load at the receiving end of a long transmission line is removed. the sending end voltage is less than the
receiving end voltage. What is this effect known as?

Options:
, w Faraday effect

- % Kelvin effect

5 « Ferrenti effect



4 % Skin effect

Question Number : 72 Question Id : 724622212 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 73 Question Id : 724622213 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

HRC fuses are used for:
Options:

. w oOver voltage protection

- % distance protection

-  OVer current protection

4 » differential protection

Question Number : 73 Question Id : 724622213 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 74 Question Id : 724622214 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

For a generating station, diversity factor is always:
Options:

1 % less than one

greater than one
equal to zero

None of the given option

Question Number : 74 Question Id : 724622214 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
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Question Number : 75 Question Id : 724622215 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

Find the percentage load factor when peak demand is 436 KW, total energy use is 57200 KkWh and the number of days in
billing cycle is 30 days.

Options:

, # 20.36%
5> % 15.60%
5 o 18.22%

4 % 25.75%



Question Number : 75 Question Id : 724622215 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Options:

| % 20.36%
. % 15.60%
2 v 18.22%

. # 25.75%

Question Number : 76 Question Id : 724622216 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
In India. TOD tariff is applied for which of the following consumers?

Options:
1 % Residential consumers

> % Commercial shops

3 « Industrial consumers

4 % No consumers

Question Number : 76 Question Id : 724622216 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
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Question Number : 77 Question Id : 724622217 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct : 1 Wrong: 0.33

For a series RLC circuit, R = 10 Q. inductive reactance X; = 20 Q and capacitive reactance X¢ =20 Q. If the applied
voltage is 100 V AC, then current in the circuit is:

Options:
1. ® SA

> o 10A
s % 20A

4 = 0A

Question Number : 77 Question Id : 724622217 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Options:

1 ® SA
2¢1DA
2% 20 A

g ® DA

Question Number : 78 Question Id : 724622218 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

X
The ﬁ ratio for distribution lines is:

Options:

X

= oaf
1 ® R

X
il |
R

= o

4 % Zero

Question Number : 78 Question Id : 724622218 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 79 Question Id : 724622219 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
The motor best suited for hoist, crane and traction type load is:

Options:
1 % DC Shunt Motor

» « DC Series Motor

- % Synchronous Motor

4 % Induction motor

Question Number : 79 Question Id : 724622219 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 80 Question Id : 724622220 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct : 1 Wrong: 0.33
In a watt hour meter, the creeping error is reduced by:

Options:
. « drilling two holes on opposite sides of the disc diameter.

5 # rotating the disk faster.

- » increasing weight of the disk.

4 % using a copper disc.

Question Number : 80 Question Id : 724622220 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 81 Question Id : 724622221 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

In ACSR conductors, steel is used for:
Options:

, w compensating skin effect

- w neutralising proximity effect
5 » reducing line inductance

4  increasing the tensile strength

Question Number : 81 Question Id : 724622221 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 82 Question Id : 724622222 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
The maximum working temperature of the tungsten filament of a lamp can be up to:

Options:
; % 1000 °C

> % 1500 °C
3 % 2000 °C

g W 3000 Dl:

Question Number : 82 Question Id : 724622222 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Options:

% 1000 °C

, » 1500 °C
. = 2000°C

4 « 3000 °C

Question Number : 83 Question Id : 724622223 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
For an AC circuit, total VA supplied is 3000. If the circuit has a power factor of 0.75 lagging. then the actual power
consumed by the circuit is:
Options:
1 & 2250 W



> % 2000 W
s % 1000 W

4 % 4000 W

Question Number : 83 Question Id : 724622223 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
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Question Number : 84 Question Id : 724622224 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
If for an IDMT relay with a plug setting of 50% and a CT ration of 400/5, the current is 3000 A, then the plug setting
multiplier would be:

Options:

4 % 375

Question Number : 84 Question Id : 724622224 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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-« 18.75

4% 375

Question Number : 85 Question Id : 724622225 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

The making capacity of a circuit breaker is equal to:
Options:

, w double the symmetrical breaking current

-  2.55 times the symmetrical breaking current

- % 1.5 times the symmetrical breaking current

, = the symmetrical breaking current

Question Number : 85 Question Id : 724622225 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
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Question Number : 86 Question Id : 724622226 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

In a DC circuit breaker, the current interruption and arc quenching is obtained by:
Options:

, w natural zero current interruption

- u low-resistance interruption

-  high-resistance interruption



4 % increasing the arc current

Question Number : 86 Question Id : 724622226 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

. ofde 39 &, ary & AR 99 owa B g A R sar 37

Options:
HIHATEH 0 9RT &7

: Tt

5 % H FTaLrer §rer

5 v 3o Ffaer srer

4 % ST GRT & S

Question Number : 87 Question Id : 724622227 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

It is always economical and desirable to improve the power factor of an installation in a power system to:
Options:

1. ® Zero

o o UNity

- % Less than unity

4 = More than unity on the leading side

Question Number : 87 Question Id : 724622227 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 88 Question Id : 724622228 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
In thermal power plants, steam energy is converted into mechanical energy by means of a:

Options:
1 % DBoiler

- % Condenser
= « Steam turbine

4 % Reactor

Question Number : 88 Question Id : 724622228 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 89 Question Id : 724622229 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33

In a two-wattmeter measurement of power in a three-phase circuit. both the wattmeters show equal readings. In this
case. the load power factor is:

Options:
; » Lagging 0.5

% Leading 0.5

<

= ® Zero

4  Unity



Question Number : 89 Question Id : 724622229 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
e 3-%a Ffehe (qftay) F [l & 79 F BT @ & aeAeT A e e § sw e A
alrs @ afad I[UTeE 4T g7

Options:

. % 0.5 Tge=feer
, » 0.5 3mEfeer

Question Number : 90 Question Id : 724622230 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

A complex voltage wave consisting of a fundamental and third harmonic component is applied to a pure capacitor. The
reactance offered by the capacitor to the third harmonic component voltage as compared to the fundamental component
voltage is:

Options:
1 % the same

> % double

5 » triple

4 « one-third

Question Number : 90 Question Id : 724622230 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 91 Question Id : 724622231 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
Select the most appropriate option to fill in the blank.

About half hour later. I saw old lady walking towards my house.
Options:

| % @;jan

5 o 8N ;an

4 ® a ; the

Question Number : 91 Question Id : 724622231 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33

Select the most appropriate option to fill in the blank.

About half hour later. I saw old lady walking towards my house.
Options:

j. & HAgan

5 o 8N ;an

5 % an:a



4 ® a ; the

Question Number : 92 Question Id : 724622232 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Select the most appropriate option to fill in the blank.

The child ran the street unmindful of the heavy traffic.
Options:
1 % round

5 o ACross

5 » through

4 ® Over

Question Number : 92 Question Id : 724622232 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Select the most appropriate option to fill in the blank.

The child ran the street unmindful of the heavy traffic.
Options:
1 % round

5 o Across

- u through

4 ® Over

Question Number : 93 Question Id : 724622233 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Select the most appropriate option to fill in the blank.

Mother took me home afier the doctor my knee.

Options:
, w» bandaged

- % Isbandaging



- » has bandaged

4 « hadbandaged

Question Number : 93 Question Id : 724622233 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Select the most appropriate option to fill in the blank.

Mother took me home afier the doctor my knee.

Options:
, = bandaged

> w Isbandaging

- % has bandaged

4  had bandaged

Question Number : 94 Question Id : 724622234 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Select the most appropriate option to fill in the blank.

She asked me I would be able to attend the seminar after the illness.

Options:
1 « Whether

5 ® S0

5 » although

4 % until

Question Number : 94 Question Id : 724622234 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Select the most appropriate option to fill in the blank.

She asked me I would be able to attend the seminar after the illness.

Options:
1 « Whether



5 ® SO
5 » although

4 % until

Question Number : 95 Question Id : 724622235 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Select the antonym of the given word.

CONTINUOUSLY
Options:
, w regularly

-  Occasionally

- u immediately

4 % usually

Question Number : 95 Question Id : 724622235 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Select the antonym of the given word.

CONTINUOUSLY
Options:

, w regularly

-  Occasionally
5 w immediately

4 = usually

Question Number : 96 Question Id : 724622236 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Select the option which means the same as the given word / group of words.

making deep sounds showing great pain

Options:



, % growling
-, % groaning
5 o loating

4 ® crying

Question Number : 96 Question Id : 724622236 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
Select the option which means the same as the given word / group of words.

making deep sounds showing great pain
Options:
, % growling

» % groaning

5  Toaring

4 ® crying

Question Number : 97 Question Id : 724622237 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
In the following sentences four words or phrases have been underlined. One of them is incorrect. Choose the incorrect
word or phrase from the given options.

No sooner he had entered the house than he was called back by his boss to the office.

Options:
1 % No sooner

> « he had
% % than

4 % called back

Question Number : 97 Question Id : 724622237 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33



In the following sentences four words or phrases have been underlined. One of them is incorrect. Choose the incorrect
word or phrase from the given options.
No sooner he had entered the house than he was called back by his boss to the office.

Options:
1 % No sooner

- « he had
o #® than

4 % called back

Question Number : 98 Question Id : 724622238 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Select the wrongly spelt word.

Options:
1 « moustach

- % mutual
= % mushroom

4 % mutation

Question Number : 98 Question Id : 724622238 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Select the wrongly spelt word.

Options:
1 « moustach

- % mutual
= % mushroom

4 % mutation

Question Number : 99 Question Id : 724622239 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Select the correct passive form of the given sentence.

The Finance Minister made a policy statement in the Parliament vesterday.



Options:
, « A policy statement was made by the Finance Minister yesterday in the Parliament.

> % A policy statement had been made by the Finance Minister yesterday in the Parliament.

- = A policy statement was being made by the Finance Minister yesterday in the Parliament.

4 # A policy statement was to be made by the Finance Minister yesterday in the Parliament.

Question Number : 99 Question Id : 724622239 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Select the correct passive form of the given sentence.

The Finance Minister made a policy statement in the Parliament vesterday.
Options:
. « A policy statement was made by the Finance Minister yesterday in the Parliament.

> % A policy statement had been made by the Finance Minister yesterday in the Parliament.

5 = A policy statement was being made by the Finance Minister yesterday in the Parliament.

4 # Apolicy statement was to be made by the Finance Minister yesterday in the Parliament.

Question Number : 100 Question Id : 724622240 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Select the option that gives the correct indirect form of the given sentence.

He said to me. “I am vour uncle. I live in Canada™.
He told me that

Options:
1 % Iam his uncle and that I live in Canada.

- » hewas your uncle and that he lived in Canada.
- % 1am youruncle and that I lived in Canada.

4  hewas my uncle and that he lived in Canada.

Question Number : 100 Question 1d : 724622240 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33



Select the option that gives the correct indirect form of the given sentence.
He said to me, “I am your uncle. I live in Canada™.
He told me that

Options:
1 % Iam his uncle and that I live in Canada.

- % hewas your uncle and that he lived in Canada.

- » lamyouruncle and that I lived in Canada.

o he was my uncle and that he lived in Canada.

Cuantitative Aptitude

Section Id : 7246228
Section Number : 3
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions; 15
Number of Questionsto be attempted: 15
Section Marks: 15
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 7246228
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 724622241 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33

Let x be the greatest number that will divide 703, 1803 and 1473 leaving in each case the same remainder y, the value of

lx — vl is:
Options:

1 B 43
o B 54

o o 67

4 % 110

Question Number : 101 Question Id : 724622241 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33



AT aferd x 9 927 ¥ 927 gEdr g, fomd =9 703, 1803 3T 1473 &r &rer REr AT, o g
iy & gu= 9vea y Jar ¥ x—y| AR

Options:

1 ® 43
o ® 54
3 « 67

4 % 110

Question Number : 102 Question Id : 724622242 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

Mitu’s expenditure and savings are in the ratio 4:1. If her salary is increased by 30% and savings increased by 20%.
then what is the per cent increase in her expenditure?

Options:

1. = 30

Tad
b2
L

2 ¥

84
$<
%]
Lh

Question Number : 102 Question Id : 724622242 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
g & T AR g9 7 g9 4 0 1 Bl IR 3HF 99 F 30% Fr ghF @ § AN g=ma 7 20% #
IR gl &, o 3 T F R e @ gy @

Options:

1 #® 30

. v 325
z ® 35

, = 375

Question Number : 103 Question Id : 724622243 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Asha sold an article at a loss of 5%. Had she increased the selling price by ¥ 110.50. she would have gained 8% on the
cost price. Had she sold it for ¥ 943.50, the profit percent would have been:

Options:



4.;_/'11

Question Number : 103 Question Id : 724622243 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
AT A T TEG F 5% A gl W = I 9% I F ey gew A T 110.50 F g I &, @ 39
AT HeT T 8% N AT gl Tl I IFG FT T 943.50 7 I=, A 38 foraam wferera amer gem?

Options:

1 96
o & -10

2« 105

e

Question Number : 104 Question Id : 724622244 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
The marked price of an article is 25% above the cost price. If it is sold for T 450 after a discount of < 78.75, then
profit/loss percentage is closest to:
Options:
6.4% profit

s S
> % 6.4% loss

=z % 5.6% loss

4 ® 5.6% profit

Question Number : 104 Question Id : 724622244 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

e avg &1 T 7oT 38 AP Ao § 25% Uw g1 T 78.75 F T &7 & RIS TG 3T T 450
9T =0 ST g, °F ST e T Teeaa

Options:

v 6.4% wmeT




L % 6.4% @i
. % 5.6% @

. % 5.6% e

Question Number : 105 Question Id : 724622245 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Monthly incomes of A and B are in the ratio 3 : 2 and their expenses are in the ratio 2 : 1. If A saves < 7,800 and B
saves < 6.000, per month then the ratio of A’s income to B’s expenditure is:

Options:

Question Number : 105 Question Id : 724622245 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

A 3R B & ATRE® AT & 3 : 2 F AT g 3R 35 TEl A 2 ;1 & IS gl TG A F AES F9d
% 7,800 ¥ 3l B #r Aiffe &= T 6,000 &, @ A #1 37 3R B F @ # 3 &

Options:

1 % 37
> ® 1.2
z o 21 : 4
45 % 1153

Question Number : 106 Question Id : 724622246 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

A, B and C start a business. A invests 25% of the capital for one-fourth of time. B invests 20% of the capital for one-
half of the time and the remaining capital was invested by C for the whole time. Qut of a profit of ¥ 68,400 after a year.
what is the difference between the shares of profit of A and C?

Options:
| % < 49,600



5 « T 46,800

2 % 45,600

4 43,200

Question Number : 106 Question Id : 724622246 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

A, B 3R C B U SR 3T & 81 A, To & 25% #9T #I Th-A1ug FHT & o Fder s
g, B, T= & 20% $T9T # 31 TFT F e F3er &xar € 997 C 99 G & R TE F e Ry
FIAT g1 UF I9 F T, T 68,400 F FA A A ¥ A AR C F o H R E:

Options:

. % T 49,600
. » % 46,800

. % % 45,600

, = T 43,200

Question Number : 107 Question Id : 724622247 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
When 2 is subfracted from each of n numbers, then the sum of the number so obtained is 116. When 3 is subtracted
from each of n numbers, then the sum of the numbers so obtained is 20. What is the average of the given n numbers?

Options:

Question Number : 107 Question Id : 724622247 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33



nmﬁﬁrg?%lﬁmﬁﬁEMW%,ﬁﬁwm qTcg FEITHT FT AT 116 ) I g2+
HEOT # U 5 UeraT FaT 8, a §H YRR 9rod HEATHT &7 AT 20 g1 & S n gt v e §

Options:

Question Number : 108 Question Id : 724622248 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

Sudha can row 18 km/h in still water. She finds that it takes her just three times as long to row up as to row down the
stream. What is the speed, in kin/h, of the stream?

Options:

1.¢ 9

Question Number : 108 Question Id : 724622248 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33

oo sar &, gur #1 T 18 el ofy ger 31 oeelt g &t arw Fr fewnm F a7 = # 3@ TTer wH
FEIAT & 3T & gl & 9Ny H Fiaker G A 97w # S 378 A A FAT AT g1 Ry H
o, fRdEEeE #, Far 87

Options:

1. ¢ 9



Question Number : 109 Question Id : 724622249 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

A certain sum is lent out for 4 vears at 5% p.a. compound interest, the interest being compounded vearly. The interest
for the third year exceeds the interest for second year by € 73.50. The sum is:

Options:

1 ® < 24,400

» & 28,000
5 = 30,000

4 % T31,200

Question Number : 109 Question Id : 724622249 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
g TF W 5% TEF T F THaEr O W 4 a9 F v 3uR & I &, FefF s aide wateg
BT g1 Ife Y I F A, gEY aW & a1+ | < 73.50 w7, o 7w mh &

Options:

. % T 24,400
, v % 28,000
. % ¥ 30,000

. = 31,200

Question Number : 110 Question Id : 724622250 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33

xZ+3x+1

Ifx +- = 6, x # 0, then the value of 1s:

xt+x—2
Options:
1

1.%'3ﬁ



Question Number : 110 Question Id : 724622250 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
2
IIﬁ'x%—i:-S,xiD %,a‘r% FTAS &

.?(-'_2

Options:

Question Number : 111 Question Id : 724622251 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
0.156x0.00025 5 0.039x0.0625x0.8512 , .

15
0.05x0.0325 0.002x0.0105%1.216

The value of

Options:
1 ® 1

> o 2
3_5&4

4 % 8

Question Number : 111 Question Id : 724622251 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33



0.16x0.000235 5 0.039x0.06253X0.8512
0.05x0.0325 0.002x0.0105x1.216

& AT ¢
Options:

1_-5-‘3-1

Question Number : 112 Question Id : 724622252 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
A student was asked to simplify the following:

oo lagtipgt C it
9 15" 5 9.3 4 &
9 20 38 3 3 4 &
His answer was % . What is the difference between the correct answer and his answer?
Options:
117
119
119
117
4 % 100

Question Number : 112 Question Id : 724622252 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

o fagandt o e = w3 =27 & T ey T

3o et wg . Ry

5 5 +3 :‘E- [=]

1ix1 Ll o2l _172 5.3

9 20 38 3 3 & &
mm? oT| 3T 3ca IUT Tar 3ca¢ # FI7 HeR 27

Options:



117
1 % 50

119
> ® 50

119
=z« 100

117
4 % 100

Question Number : 113 Question Id : 724622253 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
A fiuit seller has 2646 apples, 4914 mangoes and 6048 oranges. He wants to pack them in boxes such that each box has
equal number of fruits of the same kind. What should be the least number of boxes?

Options:

8]
$<
Tad
b2

Question Number : 113 Question 1d : 724622253 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

T B [ashdl & 915 2646 U9, 4914 31 3T 6048 TaY g1 32 5 Ha! a6 H =0 TN I L
TEAT & HT IcdF 0 H TF & T & Bl & 9T Iedah H 377 HEar #7 FATT 271 ga1 #r
FOAdH HEAT &7 gleAr =Mgu?

Options:

1 ® 28

> B 30
=z ® 32

4« 36

Question Number : 114 Question Id : 724622254 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33



1 1
26[512/5x2~12.:56/5]2 B—1x(24}3!4 _

[(27}1f3]—5f2 %(5 3}1,‘5 [{2_35}3;.},]1;5 151

The value of

Options:

o L

Question Number : 114 Question Id : 724622254 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
5 : 3/4
2B[gtafony-12 ab/SlE  g=lyfad) /

(@3] x(s3y2/5 T [(2-35y3/7]8

FT A

Options:

% 8

> ¢ 9

Question Number : 115 Question Id : 724622255 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

In an examination. A scored 50% more marks than C and B scored 100% more marks than C. How much percent less
marks has A scored than B?

Options:
1. ¢ 25

331
3

z ® 30

HE
E
LM
o



Question Number : 115 Question Id : 724622255 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
T TET FATC T 50% 30F sF og Fr ik B ¥ C & 100% 38 3/ o FTI AT B
T fras 9faa &7 3% greg &

Options:

| RS
33 :

2_ - 3

ST ] 30

g4 ® 50

Logical Alility

Section Id : 7246229
Section Number : 4
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 10
Number of Questionsto be attempted: 10
Section Marks: 10
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section 1d: 7246229
Question Shuffling Allowed : Yes

Question Number : 116 Question Id : 724622256 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
Select the option that is related to the third term in the same way as the second term is related to the first term.

Hillock : Mountain : : Pond : ?
Options:

1 « Lake

> # Well

-z % Beach

4 % Island



Question Number : 116 Question Id : 724622256 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
37 RBFeT &1 994 F A W Mg F 3% 3E g T ¢ AW TR gEU 9% 9ge 9§ ¥ §EtOd
gl

9gET : 9ag ;g ?
Options:

1.&’%

o #® 5

HAG dc

i® T

Question Number : 117 Question Id : 724622257 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Select the pair of words from the given options that shares the same relationship as the word pair below does.

Emotional : Sentimental
Options:
1 % Violent: Docile

-  Eloquent : Articulate

z % Servile : Rebel

4 % Placid : Resentful

Question Number : 117 Question Id : 724622257 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
BT 73 Fedr # ¥ 35 A2 &7 999 o0 odH 36 38T IFR & oY ¢ SAFT F A T T gt
Bl

qTTeh : ATTHaTToT
ad ] oy
Options:

1 ® mm

, o G ETSE



= R Ww
4 B %ﬁ?:ﬁ'ﬁlﬁ'

Question Number : 118 Question Id : 724622258 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
Three out of the four words below are similar in a certain way and one is different. Select the option that is different
from the others.

Options:
1 % Table

> % Chair
5  Cutlery

4 % Desk

Question Number : 118 Question Id : 724622258 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

R o 4 =l &, w8 A oreg v AT g% ¥ aow # g € o BT g1 3Ee gAE
U S aed @ B

Options:

1_%,'6?:?

o ® 2

5  HEAL
4_%%@5

Question Number : 119 Question Id : 724622259 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

If °$’ stands for ‘Addition’, ‘@° stands for ‘Subtraction’, ‘¥’ stands for “Multiplication’, and ‘©" stands for ‘Division’,
then 144 @ 12#4$4@2="2

Options:

1 ® 52

o R 54



Question Number : 119 Question Id : 724622259 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Ifg '$ & HY Y, ‘@ F I "er, # H FT W, A © FHT AT g, ar
144©12#4%4@2=7

Options:

1 ® 52
o R 54
ST ] 48

4« 950

Question Number : 120 Question Id : 724622260 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Select the figure that correctly completes the image given below.

%

Options:

-
L




Question Number : 120 Question Id : 724622260 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

3@ HFT F TTF I S A T T BT F 90T e B




Question Number : 121 Question Id : 724622261 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
What will come in place of the blank in the series?

3.8 10 38 L 1290287

Options:
1. = 76

2 o 65

g4 ® 84

Question Number : 121 Question Id : 724622261 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

TaRaT 4ot § g T & EE #7247 3EeEm?

9. 9 17 33, . 12857
Options:

1 * ?6
2 v 65
=z ® 67

4 ® a4

Question Number : 122 Question Id : 724622262 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Manyata scored 73 marks in a class test. Tanvi scored 9 marks more than Manyata but 6 marks less than Suyog. Radha
scored 4 marks less than Pinky, and 3 marks more than Suyog. Who scored the highest marks in the given test?

Options:
1 ®% Radha



o o PINKY

- = Suyog

4 % Tanvi

Question Number : 122 Question 1d : 724622262 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

Teh FET T ST A Head H 73 3 9Iod §UI Tl HOAGA § 9 3w HiUw AR GART § 6 3%
FH II°F FCI [eT F R F 4 37F FH A AT F 3 3 AOF o7 gUI T AT H HOFAH HF
g T gu?

Options:

1 % IEl

5 o TaeT

T w9

4_@3?"3?

Question Number : 123 Question Id : 724622263 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
If land is called water; water is called sky: sky is called space; and space is called moon. where will boats sail?

Options:
1 #® Land

5 % Space

3. v SKy

4 % Moon

Question Number : 123 Question Id : 724622263 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
IfE ff ST, ol FT AR FERM FHANE; AR HaRe FoAig Fga & O Hlew w7 w e

Options:

1 8 &



Question Number : 124 Question Id : 724622264 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

An address is given below which has been reproduced against the four alternatives. Of them, three have some mistakes
or the other, while one is exactly the same. Select the option that is exactly the same as the given address.

Mr. Thaddeus D*Souza
Flat No. 816, *C* Wing,
Trinity Housing Society,
Gymkhana Road. Virar West,
Thane, Maharashtra
Options:
Mr. Thaddeus D’Souza
Flat No. 816, ‘C’ Wing,
Trinity Housing Society,
Gymkhana Road. Virar West,
. « Thane. Maharashtra

Mr. Thaddaus D’Souza

Flat No. 816, ‘C’ Wing,

Trinity Housing Society,

Gymkhana Road. Verar West,
5 R Thane, Maharashtra

Mr. Thaddeus D’Souza

Flat No. 8§19, ‘C’ Wing,

Trinity Housing Society,

Gymkhana Road, Virar West,
- % Thana, Maharashtra

Mr. Thaddeus D’Souza

Flat No. 816, ‘C’ Wing,

Trimity Housing Society.

Gymchana Road. Virar West.
4 % Thane, Maharashtra
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Mr. Thaddeus D'Souza

Flat No. 816, ‘C' Wing,
Trinity Housing Society,
Gymkhana Road, Virar West,
Thane, Maharashtra

Options:

Mr. Thaddeus D’'Souza

Flat No. 816, ‘C’ Wing,

Trinity Housing Society,

Gymkhana Road, Virar West,
, « Thane, Maharashtra

Mr. Thaddaus D'Souza

Flat No. 816, ‘C’ Wing,

Trinity Housing Society,

Gymkhana Road, Verar West,
. Thane, Maharashira

Mr. Thaddeus D'Souza

Flat No. 819, ‘C’ Wing,

Trinity Housing Society,

Gymkhana Road, Virar West,
- % Ihana, Maharashtra

Mr. Thaddeus D'Souza

Flat No. 816, ‘C’ Wing,

Trimity Housing Society,

Gymchana Road, Virar West,
4 % Thane, Maharashtra

Question Number : 125 Question Id : 724622265 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Nashit is Diva’s only brother. Nashit’s wife, Shazia, has a brother, Suleiman. Fiza is Diya’s only niece. How is Suleiman
related to Fiza?

Options:



1 « Uncle
> % DBrother
z % Brother-in-law

4 % Father
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Correct : 1 Wrong: 0.33

1929 session of Congress that formalised the demand for ‘Purna Swaraj’ was held in:
Options:

1 % Kolkata



~ « Lahore
5 % Amritsar

4 ® Delhi

Question Number : 126 Question Id : 724622266 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

1929 # FEE & HOIT Fal W AT Fohar 71ar o1 FE@H o7 Fa0=r & AT Hr a4y of?
Options:

| % TPIeTeRraT
2 v TR
gm SRR
4w ool

Question Number : 127 Question Id : 724622267 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct : 1 Wrong: 0.33
Name King Ashoka’s son whom King Ashoka sent to other places to carry out duties of Buddhist missionary.

Options:
1 % Kunala

> « Mahendra
% % Tivala

4 % Jaluka
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Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33

The southern stretch of the western coast of India is called:
Options:

1 % Konkan

- % Kannad Plain
= « Malabar Coast

4 % Coromandel Coast
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Correct : 1 Wrong: 0.33
All of the following are tributaries of Indus except:

Options:
1 % Ravi
-~ % DBeas

3z % Chenab

4 « Gomti
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Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Which among the following has the power to appoint the Governor of a State?

Options:
1 « The President
- % The Prime Minister

= % The Vice President

4 % The Attorney General

Question Number : 130 Question Id : 724622270 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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fafafea #& ¥ &8 757 & TR #1 fogea &= &1 dfter e e 72

Options:

1.#1-'-@%
5 % FETTHHT
SMM
, » FEEIHETEr

Question Number : 131 Question 1d : 724622271 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33



Which of the following is correct?

Options:
, = The Vice-President is elected for a term of six years.

-  The Vice-President is elected for a term of five years.

5 % The Vice-President is elected for a term of four years.

4 w The Vice-President is elected for a term of seven years.
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Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
What is the minimum age requirement (Prescribed by the Constitution) for being a member of a Panchayat?

Options:
| % 18 years

5 ® 23 years
7 21 years

4 B 27 years
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Question Number : 133 Question 1d : 724622273 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
Which among the following mobile wallets has come up with payments bank?

Options:
, w Freecharge

5 of Paytm

3 % Mobikwik

4 = Oxigen
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Correct: 1 Wrong: 0.33
India occupied spot on IMD 2017 talent rankings.

Options:

1o 51%



o % 1410
=z % 31%

3 2 Ild
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Correct : 1 Wrong: 0.33
India has been ranked out of 102 countries in an environment impact survey done in 2017 by
MoneySuperMarket that ranks the countries in terms of the human impact on environment per person.

Options:
1 o 750

5 % 441b
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o % 44
3 % 62

4 % 397
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Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Google uses algorithm to rank their search engine results.

Options:
. % BFS

> % DFS
5 % Inktomi

4 « PageRank
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‘Which among the following is true of HTML?
Options:

; % GET requests cannot be bookmarked.

- % GET has no restrictions on data length.



= « POST data is not cached.

4 # POST data is displayed in the URL.
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What is the full form of USB that we associate with a USB drive?
Options:

1 « Universal Serial Bus

- % Unique Service Bus

%z % Uniform Service Bus

4 % Uniform Serial Bus
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Correct : 1 Wrong: 0.33
Which of the following characteristics enables a computer to perform completely different types of tasks?

Options:
] % Accuracy

Speed
Diligence

» versatility
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Which of the following is a mobile operating system developed by Google?

Options:
> « Android

z % Linux



4 % DOS
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